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Given the grid below, how many pathways are possible going from A to B if moves must be
either East or South. Select the best answer
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If you spin this fair spinner 40 times how many times should you EXPECT, on average, to get
BLUE?

Need to have all sectors the same size to do
theoretical calculation

_ #,9-(' blue eifeomes

i o 0

two 1imes = x - 3 . '-hJ

=

We can EXPECT, usually, on average, when we
Stines do 40 trials of this game to get 15 Blue!

maybe 8 or 97

idk



The probability of a dog performing a trick successfully is 85%. Determine the Odds in Favour
of the Dog successfully completing the trick
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The Odds Against a volleyball team winning a game are 7:3. Determine the probability, as a
reduced fraction, that they will win the game.
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A pinball machine is constructed as the figure below. Determine the PROBABILITY that a
randomly falling ball will fall into Bin C. Pick best or closest answer.
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In a classroom of eight students, how many ways can the teacher line up three studentsin a

row at the door.
) F.CP 8- 6 33¢ "3

chotees P —m

3 ways Ist  Ind 3.-4 3 student
Stud S4d Sha a.-.‘t ok & in wrdor
ot the dowr
24 ways
o Dewt OR: Ux The F‘Mn‘fa‘f.-ﬂh -ﬂ..a,n.:itiah on
3/8 . Mﬁh.: Sens€ 'ﬂO“-"' C&.'Gh ﬁ-far’_P,,.|
4 = #Houm claﬂ-'N‘
336 Wa e to seleck: in
= 4 H [ difleret A
; . Jcr-b"\
2 nPr 3



Determine how many ways all the letters of word YELLOWQUILL can be distinguishably
arranged. State the answer as a number below
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BONUS. A baby randomly presses three buttons on her mom'’s phone which is set in the phone
mode. Determine the probability the baby dials ‘911
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BONUS. If you move from A towards B randomly (East and South moves only), determine the
probability that you will pass through point Z. Express response as a percent to nearest 0.01.
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